16

T A

~
3
|

2z
R
Natig

7>

Ell

030006)




2 17
, Pin= 2P (2)
’ :Pl C /N;GK
’ ’ /kgs SOOkg;GT
N /kg9 75kg;Ph\— /N
Phx:Ph ‘ CO$ (3)
Phy=Pn - sinf (4)
:Ph /N?
800N,
;B_ ’ ’ :B:
107, .B=20".
2 7P2 9
110N, P,=7.8XmX 1X (0.9 - 0. 6°) g; Ra
/N;Rs
/N.
6 5
o A Ra:
+ A
/ Ri= JRL+Ris (5)
. Ray A /
VAR (ath) -
N, Ry, = & ""J“i Poe_ 6615N: Rie —A
2
1 2 3 .4 5 N, RAX:M:
6 57 8 9 b
1733(N);  Ra=6838N.
3 B RB:
3.1 RB: ,Iifz'h_’_R%i\ (6)
:RB.V B /
P1 P2 Pi —Pa(b+e) -P
b N, Rey = = 2(11) ) £ — 476N ; Rin ——A
C
A B /N, Rec = Z—Ph;)x a_
TS P 157N;  Rs=3500N.
%6 ) [}
06 A
M&y=P1X a=1308. 16N - M
3 M¥y=P>X ¢=27.94N - M
3 , , Mwx="2Pu X a=341.99N - M
’ My = ,M%vnﬁ—M%wx
’ = [1308. 16>+ 341. 99
=1352. 10N - M
. M= ,Ni%@'YB—’_M%iXB
3 . C Pi, Piy . P — D7.947=27.94N - M

Piy,=(Gx +Gr )g+2Ph>~ (1)

3.2
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. CA :
s Mx: M= -Pi(a+b-X1) (b<X:1<b+a)
Mx= %z'-}-(aMn)z (7) :
M JON - M); My EIV 1=~ Pi(atb-X1)
/(N - M);Ma— /(N M);a :
EIVi=PiXi/2-Pi(atb)Xi+Ci
=1 EIVi=Pi1 X1 /6 - Pi(a+b)Xi/2+CiX:+D:
3B 6. 5/11kw. AB _
n=450/900r - min"", ®= 820mm, M=Ra(b-Xs) - P (atb - %) (0<Xo<b)
D= 140mm, :n = 76. 83r - :

min~',n =153.66 r - min ',

M.=9549X N /n=683. 6N - M (8)
A , A

Mxa = ,MW‘FMn:1515.09N' M

vl—v T M<[o] (9)
. W—_ . W:
3
Tl o] —— : 40Cr . [o] =
90M Pa;
3
%[G] =M xa
3
D= P2 Mg
" [
D) K— ) 15~2°

3
= J%x %x 2~ 3431 Nem
A

, Da=85mm,
3.3
s 4,
»
Ra b B
x 2 |
S C |tA X D
R, R
J
p.| 1

EIV 5=Ra(b-X3) - Pi(atb-X3)

Ra X3 +PIX%

EIVi= - +RabXs =Pi(a+h)

2 2
X3+ Cs
o R X3 P X3 Ry bX3
EIV: = - =25 + =25 4+ =57 -
2
W+C3X3+D3
Vi=0; Xi=X3=h,
Vi=Vs, Vi=V3; Xs=0, Vi=0,
CA :
2 2
EIVi= P‘2X‘ —Pi(at b)Xl+%+
2
 PXi Puath) X3 Rub’
EIV: = 6 - > —+ [ 6 +
Pi(atb)b Pib’ Rab’
5 - IXi =T (11)
C :
Xi=a+b=240cm; E— ,
40Cr, E=2. 1X 10'N - em 51—
df:% (12)
i:lg
3B . dv ~llem, d=

1lcm
I=nd' /6427 18cm’
Pi = 5000+750+278. 4= 6028. 4N
P =1576N Ra =6615N
Ry =1733N
(12)
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Vi =-0.02cm, Vi =~-0.003cm “« 7

tl=vi= Ni +Vi

= J(-0.02)"+( -0.003)" 0. 02cm

(11)
Vi =-0.0007 .Vi =-0.0002
. T ; .
Q.l=v= Wi +VvI =20.0007 30%
| Q.| =0. 001 . [£.] =0. 15¢m, ’ o
Q[ Q] [fo> |1l 54 KWh
1
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